Questions for: PROBLEM SET 07A

Name _____________________  Section _________________________
Use your worksheet and graphs to answer the following questions.  

1. Explain the difference between total product and marginal product.

2. Is there evidence of diminishing marginal returns to labor in this exercise?  Explain how you know.

3.  Return to your average and marginal product graph.  


a. When your Average product curve is at its maximum, what is 


the value of Marginal product? ________  


b. When your Average product curve is rising, where must the 


Marginal product curve lie?  ______________________________

c. When your Average product curve is falling, where must the 

Marginal product curve lie? _______________________________ 

4. Return to your worksheet.  When your Total product curve reaches a maximum, what can you say about Marginal product? 

________________________________ 

About average product?  _____________________________

Why is this so?  Is average product positive or negative?


5. When your Marginal product reaches a maximum, what can you say about the slope of the Total product curve?  Please explain.

6.  What is the value of Marginal product when the quantity of 


labor = 100? ____________  

What does it mean for Marginal product to be negative? What might cause this? Explain.

7. Suppose the production function for the firm changes such that the equation below now represents the firm's production function in the short run:


TP = 50L


a. Retrieve your worksheet.  Copy the label and labor data from cells A4:D25 into cells A27:D48.


Change the label in cell B27 to TP-2 and use an Excel formula, based on the equation above, to complete the data entries in cells B28:B47.  (Hint: Cell B48 should contain the value 5000.)


Notice the changes in cells C29:D48.  What has happened to the 

average and marginal products of labor?  Change the labels in cells C27 and D27 as AP-2, and MP-2 respectively.


b. Draw two new graphs, similar to the ones you drew earlier, and Name them TOTAL PRODUCT – 2 and AVERAGE AND MARGINAL PRODUCT – 2.  (Do not forget to resave your worksheet.)


c. What is the slope of your new Total product curve? _______

      What is the value of Marginal product?   _______



What is the value of Average product?  ________ 



Explain the relationship between these three variables.


d. Is there evidence of diminishing marginal returns to labor with this new production function?  If so, where do they begin? Please explain your answer.


e. Compare the characteristics of this production function with your original one.  Describe the differences between them.

Save your worksheet once you have completed these new entries.



